
BID NO. 6100057654
 

SUPPLIERS PRICE SUBMITTAL 

POSTS AND ACCESSORIES   
                               

GROUP 1

Item # SAP
Material #

Item
Description

Estimated 
Quantity              

(Two Years)

Weight Per Item 
(lbs) Each

Total Weight
(lbs)

Unit of
Measure

Unit
Price

Total
Amount

10 298653 POST,10 FT,2.5 LB/FT,GREEN PAINT 525 25 13125 EA $0.00
20 298654 POST,10 FT,2.5 LB/FT,GALVANIZED 1050 25 26250 EA $0.00
30 298661 POST,4 FT,2.5 LB/FT,GREEN PAINT 2 10 20 EA $0.00
40 298663 POST,12 FT,4 LB/FT,GREEN PAINT 2 48 96 EA $0.00
50 298664 POST,12 FT,4 LB/FT,GALVANIZED 150 48 7200 EA $0.00
60 298667 ANCHOR,3.5 FT,2.5 LB/FT,GREEN PAINT 800 8.75 7000 EA $0.00
70 298668 ANCHOR,3.5 FT,2.5 LB/FT,GALVANIZED 1000 8.75 8750 EA $0.00
80 298669 ANCHOR,3.5 FT,4 LB/FT,GREEN PAINT 2 14 28 EA $0.00
90 298670 ANCHOR,3.5 FT,4 LB/FT,GALVANIZED 350 14 4900 EA $0.00
100 298671 MOUNT,FORMED CHANNEL SIGN,10 FT 2 24 48 EA $0.00
110 298673 NUTS,LOCKWASH,5X16X2.25,GR 9,200 SET/BOX 30 21 630 BOX $0.00
120 298674 POST,SPACER 3800 0.29 1102 EA $0.00
130 298676 CAP,DRIVE,MANUAL,2.5/4 LB ,COMBINATION 2 11 22 EA $0.00

$0.00

Supplier Name:                                                                                                                    
SAP Vendor Number:                                                                                   

Grand Total

Supplier Instructions: Please Complete Green Areas Only. 

Group 1



BID NO. 6100057654 SUPPLIERS PRICE SUBMITTAL 

POSTS AND ACCESSORIES
                                 

GROUP 1 (ALT)

Item # SAP
Material #

Item
Description

Estimated 
Quantity              

(Two Years)

Weight Per 
Item (lbs) 

Each

Total Weight
(lbs)

Unit of
Measure

Unit
Price

Total
Amount

10 298653 POST,10 FT,2.5 LB/FT,GREEN PAINT 525 25 13125 EA $0.00
20 298654 POST,10 FT,2.5 LB/FT,GALVANIZED 1050 25 26250 EA $0.00
30 298661 POST,4 FT,2.5 LB/FT,GREEN PAINT 2 10 20 EA $0.00
40 298663 POST,12 FT,4 LB/FT,GREEN PAINT 2 48 96 EA $0.00
50 298664 POST,12 FT,4 LB/FT,GALVANIZED 150 48 7200 EA $0.00
60 298667 ANCHOR,3.5 FT,2.5 LB/FT,GREEN PAINT 800 8.75 7000 EA $0.00
70 298668 ANCHOR,3.5 FT,2.5 LB/FT,GALVANIZED 1000 8.75 8750 EA $0.00
80 298669 ANCHOR,3.5 FT,4 LB/FT,GREEN PAINT 2 14 28 EA $0.00
90 298670 ANCHOR,3.5 FT,4 LB/FT,GALVANIZED 350 14 4900 EA $0.00
100 298671 MOUNT,FORMED CHANNEL SIGN,10 FT 2 24 48 EA $0.00
110 359498 LAP SPLICE BAR,BOLT,NUT,WASH,50 SETS/BOX 30 21 630 BOX $0.00
120 359499 LAP SPLICE BAR,BOLT,NUTS,WASHERS,1 SET 3800 0.29 1102 EA $0.00
130 298676 CAP,DRIVE,MANUAL,2.5/4 LB ,COMBINATION 2 11 22 EA $0.00

$0.00

Supplier Instructions: Please Complete Green Areas Only. 

Supplier Name:                                                                                                                    
SAP Vendor Number:                                                                                   

Grand Total

Group 1 (Alt)



BID NO. 6100057654

 

SUPPLIERS PRICE SUBMITTAL

POSTS AND ACCESSORIES 

GROUP 2

Item # SAP
Material #

Item
Description

Estimated 
Quantity              

(Two Years)

Weight Per 
Item (lbs) Each

Total Weight
(lbs)

Unit of
Measure

Unit
Price

Total
Amount

10 147705 POST,9 FT,1.75" SQ,14 GAUGE,60KSI, GALV 175 15.39 2693 EA $0.00
20 147706 POST,10 FT,1.75" SQ,14 GAUGE,60KSI,GALV 1,000 17.10 17100 EA $0.00
30 147707 POST,12 FT,1.75" SQ,14 GAUGE,60KSI,GALV 150 20.52 3078 EA $0.00
40 147708 POST,9 FT,2" SQ,14 GAUGE,60KSI,GALV 300 17.90 5370 EA $0.00
50 147709 POST,10 FT,2" SQ,14 GAUGE,60KSI,GALV 40,000 19.89 795600 EA $0.00
60 147710 POST,12 FT,2" SQ,14 GAUGE,60KSI,GALV 8,000 23.87 190960 EA $0.00
70 147712 POST,10 FT,2.25" SQ,14 GAUGE,60KSI,GALV 600 22.75 13650 EA $0.00
80 147713 POST,12 FT,2.25" SQ,14 GAUGE,60KSI,GALV 200 27.30 5460 EA $0.00
90 147714 SLEEVE,1 FT,1.5" SQ,14 GAUGE,60KSI,GALV 2 1.57 3 EA $0.00
100 147715 SLEEVE,1 FT,1.75 SQ,14 GAUGE,60KSI,GALV 2 1.71 3 EA $0.00
110 147717 POST,ANCH,3 FT,2" SQ,12 GAUGE,60KSI,GALV 125 7.33 916 EA $0.00
120 147718 POST,ANCH,3 FT,2.25" SQ,12 GAUGE,60KSI,GALV 60,000 8.38 502800 EA $0.00
130 147719 POST,ANCH,3 FT,2.5" SQ,12 GAUGE,GALV 800 9.43 7544 EA $0.00
140 147722 BOLT,CORNER W/NUTS FOR 1.75"& 2" SQ ,250 20 11.00 220 BOX $0.00
150 147723 BOLT,CORNER W/NUTS FOR 2.25" SQ,250 150 13.00 1950 BOX $0.00
160 147725 BOLT,NUTS,3/8 X 3",250 15 32.25 484 BOX $0.00
170 147726 BOLT,NUTS,3/8 X 3-1/2",250 4 34.00 136 BOX $0.00
180 147727 RIVET,DRIVE,3/8" DIA,MULTI-GRIP,250 200 10.00 2000 BOX $0.00
190 147728 CAPS,DRIVE,MECH 2" 2 4.24 8 EA $0.00
200 147729 CAPS,DRIVE,MECH 2 1/4", T 5  4 10 4.86 49 EA $0.00
210 147730 CAPS,DRIVE,MECH 2 1/2" 2 6.57 13 EA $0.00
220 147731 CAPS,DRIVE,MANUAL 2" 10 5.25 53 EA $0.00
230 147732 CAPS,DRIVE,MANUAL,2.25" T 6  4 20 5.85 117 EA $0.00
240 147733 CAPS,DRIVE,MANUAL,2.50" T 6  4 2 8.00 16 EA $0.00
250 147773 POST,9 FT,1.5" SQ,12 GAUGE,50/BUNDLE 200 15.71 3142 EA $0.00

$0.00

Supplier Name:                                                                                                                    
SAP Vendor Number:                                                                                   

Grand Total

Supplier Instructions: Please Complete Green Areas Only. 

Group 2



BID NO. 6100057654
 

SUPPLIERS PRICE SUBMITTAL

POSTS AND ACCESSORIES 

GROUP 3

Item # SAP
Material #

Item
Description

Estimated 
Quantity              

(Two Years)

Weight Per Item 
(lbs) Each

Total weight
(lbs)

Unit of 
Measure

Unit
Price

Total
Amount

10 147759 BOLTS,COUPLING,SET-4,REPLACE,SB-CBLP1 10 1.00 10 EA $0.00
20 147760 COUPLING,BREAKAWAY,SET-4,REPL,LP,SB-CALP 20 8.50 170.00 EA $0.00
30 147761 COUPLING,BREAKAWAY,SET-4,REP,REG,SB-CARG 2 11.00 22.00 EA $0.00
40 147762 COUPLING,BREAKAWAY,SET-4,REP,SB-CBLP 2 2.25 4.50 EA $0.00
50 147763 COUPLING,BREAKAWAY,SET-4,REP,REG,SB-CBRG 2 3.00 6.00 EA $0.00
60 147765 HINGE,BREAKAWAY,SET-4,PLATES,REP,SB-HB2 20 2.25 45.00 EA $0.00
70 147766 HINGE,BREAKAWAY,SET-4,PLATES,REP,SB-HB3 2 2.50 5.00 EA $0.00

$0.00

Supplier Name:                                                                                                                    
SAP Vendor Number:                                                                                   

Grand Total 

Supplier Instructions: Please Complete Green Areas Only. 

Group 3



BID NO. 6100057654

 

SUPPLIERS PRICE SUBMITTAL

POSTS AND ACCESSORIES 

GROUP 4

Item # SAP
Material #

Item
Description

Estimated 
Quantity              

(Two Years)

Weight Per 
Item (lbs) 

Each

Total weight
(lbs)

Unit of
 Measure

Unit
Price

Total
Amount

10 147768 SLEEVE,STEEL,4X4X30,WOOD SIGN POST 10 28.00 280 EA $0.00
20 147769 SLEEVE,STEEL,4X6X30,WOOD SIGN POST 60 33.25 1995 EA $0.00
30 147770 SLEEVE,STEEL,6"X6"X30",SIGN POST 25 40.00 1000 EA $0.00
40 147771 SLEEVE,STEEL,6"X8"X30",SIGN POST 10 46.50 465 EA $0.00

$0.00

Supplier Name:                                                                                                            
SAP Vendor Number:                                                                              

Grand Total 

Supplier Instructions: Please Complete Green Areas Only. 

Group 4



BID NO. 6100057654
 

SUPPLIERS PRICE SUBMITTAL

POSTS AND ACCESSORIES 

GROUP 5

Item # SAP
Material # Item Description

Estimated 
Quantity              

(Two Years)

Weight Per 
Item (lbs) Each

Total Weight
(lbs)

Unit of
Measure

Unit
Price

Total
Amount

10 147724 POST,STRINGER,8 FT,1-1/2 LB 2 8.96 18 PAC $0.00
20 147774 BOLT,W/NUT,STEEL,5/16"X2.5"ANTI THEFT 2 8.72 17 BOX $0.00
30 147775 BOLT,W/NUT,STEEL,5/16X3,ANTI THEFT 25 9.87 247 BOX $0.00
40 147776 BOLT,W/NUT/WASH,ALUM,5/16X2.5,VANDAL PRF 150 2.70 405 BOX $0.00
50 147777 BOLT,W/NUT/WASH,ALUM,5/16X3,VANDAL PRF 400 3.00 1200 BOX $0.00

$0.00

Supplier Name:                                                                                                               
SAP Vendor Number:                                                                                     

Grand Total 

Supplier Instructions: Please Complete Green Areas Only. 

Group 5


	Group 1
	Group 1 (Alt)
	Group 2
	Group 3
	Group 4
	Group 5

